

# THE INTERNATIONAL JOURNAL OF SCIENCE & TECHNOLEDGE

## Certain Properties of a Subclass of Non-Bazilevic Functions of Complex Order

**Dr. Hamzat J. O.**

Department of Pure and Applied Mathematics,  
Ladoke Akintola University of Technology, Ogbomosho, Nigeria

**Olayiwola M. A.**

Department of Mathematics and Statistics, The Oke-Ogun Polytechnic, Oyo State, Nigeria

**Abstract:**

For function  $f(z)$  of the form

$$f(z) = z + a_2 z^2 + \dots$$

which are analytic and univalent in the open unit disk  $D$ . The authors define certain new subclass  $S_{\lambda,l}^{m,\alpha}(A,B,b,\beta,\theta)$  of analytic functions which satisfy the condition that

$$1 + \frac{1}{b} \left\{ \frac{\beta e^{i\theta} \left( I^m(\lambda,l)f(z)^\alpha \right)' + z(1-\beta) \left[ \left( I^m(\lambda,l)f(z)^\alpha \right)' + z \left( I^m(\lambda,l)f(z)^\alpha \right)'' \right]}{\beta \left( I^m(\lambda,l)f(z)^\alpha \right) + (1-\beta)z \left( I^m(\lambda,l)f(z)^\alpha \right)' } - \alpha \right\} \prec \frac{1 + Az}{1 + Bz}$$

where  $b$  is any non-zero complex number and  $\prec$  denote the subordination symbol.  $A$  and  $B$  are arbitrary constants with  $-1 \leq B < A \leq 1$ . Coefficient bounds, growth and distortion theorems for functions belonging to the said subclass  $S_{\lambda,l}^{m,\alpha}(A,B,b,\beta,\theta)$  were determined.

Mathematics Subject Classification: Primary 30C45

**Keywords:** Analytic, Univalent, Coefficient bounds, Growth and Distortion theorems.

### 1. Introduction and Preliminary Definitions

Let  $S(p)$  denote the class of functions of the form

$$f(z) = z + \sum_{k=2}^{\infty} a_k z^k \quad z \in U \quad (1)$$

which are analytic in the open unit disk  $U = \{z : |z| < 1\}$ .

Supposing we pose an index  $\alpha$  on (1) such that

$$f(z)^\alpha = (z + a_2 z^2 + \dots)^\alpha$$

then

$$f(z)^\alpha = z^\alpha + \sum_{k=2}^{\infty} a_k(\alpha) z^{\alpha+k-1} \quad z \in D \quad (2)$$

see [4,5] for detailed expansion.

Using Aouf et al derivative operator [2], we can write for function  $f(z)^\alpha$  defined in (2) that

$$I^m(\lambda, l)f(z)^\alpha = \left(\frac{1 + \lambda(\alpha - 1) + l}{1 + l}\right)^m z^\alpha + \sum_{k=2}^{\infty} \left(\frac{1 + \lambda(\alpha + k - 2) + l}{1 + l}\right)^m a_k(\alpha) z^k \quad (3)$$

$m \in N_0, \alpha > 0, \lambda \geq 0, l \geq 0$  and  $z \in D$ .

Akbarally et al [1] among others had earlier considered the class  $S_p(A, B, b, \lambda)$ . However, for the sake of our present investigation, let  $S_{\lambda, l}^{m, \alpha}(A, B, b, \beta, \theta)$  denote the subclass of  $S$  that consists of function  $f(z)$  satisfying the condition that

$$1 + \frac{1}{b} \left\{ \frac{\beta e^{i\theta} (I^m(\lambda, l)f(z)^\alpha)' + z(1 - \beta) \left[ (I^m(\lambda, l)f(z)^\alpha)' + z(I^m(\lambda, l)f(z)^\alpha)'' \right]}{\beta (I^m(\lambda, l)f(z)^\alpha)' + (1 - \beta)z(I^m(\lambda, l)f(z)^\alpha)'} - \alpha \right\} \prec \frac{1 + Aw(z)}{1 + Bw(z)} \quad (4)$$

$$0 \leq \beta \leq -1, \theta < \left| \frac{\pi}{2} \right|, m \in N_0, \alpha > 0, \lambda \geq 0, l \geq 0 \text{ and } z \in D$$

Next, the we considered the coefficient bounds for functions belonging to the class  $S_{\lambda, l}^{m, \alpha}(A, B, b, \beta, \theta)$ .

### 2. Main Result

**Theorem 1:** Let  $f$  be a function of the form (2), then  $f(z)^\alpha \in S_{\lambda, l}^{m, \alpha}(A, B, b, \beta, \theta)$  if and only if

$$\frac{\sum_{k=2}^{\infty} [(\alpha + k - 1)[\beta e^{i\theta} + (1 - \beta)(\alpha + k - 1)] + |M| T_{K, \alpha}^m |a_k(\alpha)|}{|b|(A - B)[\beta + \alpha(1 - \beta) - \alpha\beta(e^{i\theta} - 1)(1 + B)]} \leq 1$$

where

$$M = b(A - B)[\beta + (1 - \beta)(\alpha + k - 1)] - B(\alpha + k - 1)[\beta e^{i\theta} + (1 - \beta)(\alpha + k - 1)]$$

and

$$T_{K, \alpha}^m = \left(\frac{1 + \lambda(\alpha + k - 2) + l}{1 + \lambda(\alpha - 1) + l}\right)^m.$$

**Proof:** Let  $f(z)^\alpha \in S_{\lambda, l}^{m, \alpha}(A, B, b, \beta, \theta)$ , then by the definition of subordination, we can express (4) as

$$1 + \frac{1}{b} \left\{ \frac{\beta e^{i\theta} (I^m(\lambda, l)f(z)^\alpha)' + z(1 - \beta) \left[ (I^m(\lambda, l)f(z)^\alpha)' + z(I^m(\lambda, l)f(z)^\alpha)'' \right]}{\beta (I^m(\lambda, l)f(z)^\alpha)' + (1 - \beta)z(I^m(\lambda, l)f(z)^\alpha)'} - \alpha \right\} = \frac{1 + Aw(z)}{1 + Bw(z)}.$$

It implies that

$$\frac{\beta e^{i\theta} (I^m(\lambda, l)f(z)^\alpha)' + z(1 - \beta) \left[ (I^m(\lambda, l)f(z)^\alpha)' + z(I^m(\lambda, l)f(z)^\alpha)'' \right]}{\beta (I^m(\lambda, l)f(z)^\alpha)' + (1 - \beta)z(I^m(\lambda, l)f(z)^\alpha)'} - \alpha$$

$$= \left[ b(A - B) - B \left\{ \frac{\beta e^{i\theta} (I^m(\lambda, l)f(z)^\alpha)' + z(1 - \beta) \left[ (I^m(\lambda, l)f(z)^\alpha)' + z(I^m(\lambda, l)f(z)^\alpha)'' \right]}{\beta (I^m(\lambda, l)f(z)^\alpha)' + (1 - \beta)z(I^m(\lambda, l)f(z)^\alpha)'} - \alpha \right\} \right] w(z). \text{ That is}$$

$$\frac{\sum_{k=2}^{\infty} (\alpha + k - 1) [\beta e^{i\theta} + (1 - \beta)(\alpha + k - 1)] T_{k,\alpha}^m a_k(\alpha) z^{k-1} + \alpha \beta (e^{i\theta} - 1)}{[\beta + \alpha(1 - \beta)] + \sum_{k=2}^{\infty} [\beta + (1 - \beta)(\alpha + k - 1)] T_{k,\alpha}^m a_k(\alpha) z^{k-1}}$$

where

$$T_{K,\alpha}^m = \left( \frac{1 + \lambda(\alpha + k - 2) + l}{1 + \lambda(\alpha - 1) + l} \right)^m.$$

Thus, since  $|w(z)| \leq 1$ , then

$$\left| \sum_{k=2}^{\infty} (\alpha + k - 1) [\beta e^{i\theta} + (1 - \beta)(\alpha + k - 1)] T_{k,\alpha}^m a_k(\alpha) z^{k-1} + \alpha \beta (e^{i\theta} - 1) \right| \leq \left| b(A - B)[\beta + \alpha(1 - \beta)] - B\alpha\beta(e^{i\theta} - 1) - \sum_{k=2}^{\infty} \left[ \frac{B(\alpha + k - 1) [\beta e^{i\theta} + (1 - \beta)(\alpha + k - 1)]}{-b(A - B)[\beta + (1 - \beta)(\alpha + k - 1)]} \right] T_{k,\alpha}^m a_k(\alpha) z^{k-1} \right|$$

and  $T_{k,\alpha}^m$  is as

earlier defined.

Letting  $|z| \rightarrow 1^-$  through real values, we obtain

$$\frac{\sum_{k=2}^{\infty} \left[ (\alpha + k - 1) [\beta e^{i\theta} + (1 - \beta)(\alpha + k - 1)] + \left| \frac{b(A - B)[\beta + (1 - \beta)(\alpha + k - 1)]}{-B(\alpha + k - 1) [\beta e^{i\theta} + (1 - \beta)(\alpha + k - 1)]} \right| \right] T_{k,\alpha}^m |a_k(\alpha)|}{|b|(A - B)[\beta + \alpha(1 - \beta)] - \alpha\beta(e^{i\theta} - 1)(B + 1)} \leq 1$$

which is the required result.

→ **Corollary 1:** Let  $f$  be a function of the form (2), then  $f(z) \in S_{\lambda,l}^{m,\alpha}(A, B, b, \beta, 0)$  if and only if

$$\frac{\sum_{k=2}^{\infty} [(\alpha + k - 1) [\beta + (1 - \beta)(\alpha + k - 1)] + |M|] T_{K,\alpha}^m |a_k(\alpha)|}{|b|(A - B)[\beta + \alpha(1 - \beta)]} \leq 1$$

where

$$M = b(A - B)[\beta + (1 - \beta)(\alpha + k - 1)] - B(\alpha + k - 1)[\beta + (1 - \beta)(\alpha + k - 1)]$$

and

$$T_{K,\alpha}^m = \left( \frac{1 + \lambda(\alpha + k - 2) + l}{1 + \lambda(\alpha - 1) + l} \right)^m.$$

→ **Corollary 2:** Let  $f$  be a function of the form (2), then  $f(z) \in S_{\lambda,l}^{m,\alpha}(A, B, b, 1, 0)$  if and only if

$$\frac{\sum_{k=2}^{\infty} [(\alpha + k - 1) + |M|] T_{K,\alpha}^m |a_k(\alpha)|}{|b|(A - B)} \leq 1$$

where

$$M = b(A - B) - B(\alpha + k - 1)$$

and

$$T_{K,\alpha}^m = \left( \frac{1 + \lambda(\alpha + k - 2) + l}{1 + \lambda(\alpha - 1) + l} \right)^m.$$

**Growth and Distortion theorems**

**Theorem 2:** If  $f(z) \in S_{\lambda, l}^{m, \alpha}(A, B, b, \beta, \theta)$ , then

$$r^\alpha - r^{\alpha+1} \left\{ \frac{|b|(A-B)[\beta + \alpha(1-\beta)] - \alpha\beta(e^{i\theta} - 1)(B+1)}{[(\alpha+1)[\beta e^{i\theta} + (1-\beta)(\alpha+1)] + |b(A-B)[\beta + (1-\beta)(\alpha+1)] - B(\alpha+1)[\beta e^{i\theta} + (1-\beta)(\alpha+1)]} \right\} T_{2, \alpha}^m$$

$$\leq$$

$$|f(z)^\alpha|$$

$$\leq$$

$$r^\alpha + r^{\alpha+1} \left\{ \frac{|b|(A-B)[\beta + \alpha(1-\beta)] - \alpha\beta(e^{i\theta} - 1)(B+1)}{[(\alpha+1)[\beta e^{i\theta} + (1-\beta)(\alpha+1)] + |b(A-B)[\beta + (1-\beta)(\alpha+1)] - B(\alpha+1)[\beta e^{i\theta} + (1-\beta)(\alpha+1)]} \right\} T_{2, \alpha}^m$$

Equality is attained for function  $f(z)^\alpha$  of the form

$$f(z)^\alpha = z^\alpha + \left\{ \frac{|b|(A-B)[\beta + \alpha(1-\beta)] - \alpha\beta(e^{i\theta} - 1)(B+1)}{[(\alpha+1)[\beta e^{i\theta} + (1-\beta)(\alpha+1)] + |b(A-B)[\beta + (1-\beta)(\alpha+1)] - B(\alpha+1)[\beta e^{i\theta} + (1-\beta)(\alpha+1)]} \right\} T_{2, \alpha}^m z^{\alpha+1}.$$

**Proof:** From theorem 1, we have that

$$\sum_{k=2}^{\infty} |a_k(\alpha)| \leq \frac{|b|(A-B)[\beta + \alpha(1-\beta)] - \alpha\beta(e^{i\theta} - 1)(B+1)}{[(\alpha+1)[\beta e^{i\theta} + (1-\beta)(\alpha+1)] + |b(A-B)[\beta + (1-\beta)(\alpha+1)] - B(\alpha+1)[\beta e^{i\theta} + (1-\beta)(\alpha+1)]} T_{2, \alpha}^m. \tag{5}$$

Using (2) and (5), we have that

$$|f(z)^\alpha| \leq |z|^\alpha + \sum_{k=2}^{\infty} |a_k(\alpha)| |z|^{\alpha+k-1} \leq r^\alpha + r^{\alpha+1} \sum_{k=2}^{\infty} |a_k(\alpha)|.$$

That is

$$|f(z)^\alpha| \leq r^\alpha + r^{\alpha+1} \left\{ \frac{|b|(A-B)[\beta + \alpha(1-\beta)] - \alpha\beta(e^{i\theta} - 1)(B+1)}{[(\alpha+1)[\beta e^{i\theta} + (1-\beta)(\alpha+1)] + |b(A-B)[\beta + (1-\beta)(\alpha+1)] - B(\alpha+1)[\beta e^{i\theta} + (1-\beta)(\alpha+1)]} \right\} T_{2, \alpha}^m \text{ Also,}$$

$$|f(z)^\alpha| \geq |z|^\alpha - \sum_{k=2}^{\infty} |a_k(\alpha)| |z|^{\alpha+k-1} \geq r^\alpha - r^{\alpha+1} \sum_{k=2}^{\infty} |a_k(\alpha)|.$$

That is

$$|f(z)^\alpha| \geq r^\alpha - r^{\alpha+1} \left\{ \frac{|b|(A-B)[\beta + \alpha(1-\beta)] - \alpha\beta(e^{i\theta} - 1)(B+1)}{[(\alpha+1)[\beta e^{i\theta} + (1-\beta)(\alpha+1)] + |b(A-B)[\beta + (1-\beta)(\alpha+1)] - B(\alpha+1)[\beta e^{i\theta} + (1-\beta)(\alpha+1)]} \right\} T_{2, \alpha}^m$$

**Theorem 3:** If  $f(z) \in S_{\lambda, l}^{m, \alpha}(A, B, b, \beta, \theta)$ , then

$$\alpha r^{\alpha-1} - r^\alpha \left\{ \frac{(\alpha+1)\{ |b|(A-B)[\beta + \alpha(1-\beta)] - \alpha\beta(e^{i\theta} - 1)(B+1) \}}{[(\alpha+1)[\beta e^{i\theta} + (1-\beta)(\alpha+1)] + |b(A-B)[\beta + (1-\beta)(\alpha+1)] - B(\alpha+1)[\beta e^{i\theta} + (1-\beta)(\alpha+1)]} \right\} T_{2,\alpha}^m$$

$$\leq |f'(z)^\alpha|$$

$$\leq \alpha r^{\alpha-1} + r^\alpha \left\{ \frac{(\alpha+1)\{ |b|(A-B)[\beta + \alpha(1-\beta)] - \alpha\beta(e^{i\theta} - 1)(B+1) \}}{[(\alpha+1)[\beta e^{i\theta} + (1-\beta)(\alpha+1)] + |b(A-B)[\beta + (1-\beta)(\alpha+1)] - B(\alpha+1)[\beta e^{i\theta} + (1-\beta)(\alpha+1)]} \right\} T_{2,\alpha}^m$$

Equality is attained for function  $f(z)^\alpha$  of the form

$$f(z)^\alpha = z^\alpha + \left\{ \frac{|b|(A-B)[\beta + \alpha(1-\beta)] - \alpha\beta(e^{i\theta} - 1)(B+1)}{[(\alpha+1)[\beta e^{i\theta} + (1-\beta)(\alpha+1)] + |b(A-B)[\beta + (1-\beta)(\alpha+1)] - B(\alpha+1)[\beta e^{i\theta} + (1-\beta)(\alpha+1)]} \right\} z^{\alpha+1} \tag{6}$$

**Proof:** From (5), we can write that

$$\sum_{k=2}^{\infty} (\alpha+k-1) |a_k(\alpha)| \leq \frac{(\alpha+1)\{ |b|(A-B)[\beta + \alpha(1-\beta)] - \alpha\beta(e^{i\theta} - 1)(B+1) \}}{[(\alpha+1)[\beta e^{i\theta} + (1-\beta)(\alpha+1)] + |b(A-B)[\beta + (1-\beta)(\alpha+1)] - B(\alpha+1)[\beta e^{i\theta} + (1-\beta)(\alpha+1)]} T_{2,\alpha}^m \tag{5}$$

With the aid of (2) and (6), we have that

$$|f'(z)^\alpha| \leq \alpha |z|^{\alpha-1} + \sum_{k=2}^{\infty} (\alpha+k-1) |a_k(\alpha)| |z|^{\alpha+k-2} \leq \alpha r^{\alpha-1} + r^\alpha \sum_{k=2}^{\infty} (\alpha+k-1) |a_k(\alpha)| \leq \alpha r^{\alpha-1} + r^\alpha \left\{ \frac{(\alpha+1)\{ |b|(A-B)[\beta + \alpha(1-\beta)] - \alpha\beta(e^{i\theta} - 1)(B+1) \}}{[(\alpha+1)[\beta e^{i\theta} + (1-\beta)(\alpha+1)] + |b(A-B)[\beta + (1-\beta)(\alpha+1)] - B(\alpha+1)[\beta e^{i\theta} + (1-\beta)(\alpha+1)]} \right\} T_{2,\alpha}^m$$

Similarly,

$$|f'(z)^\alpha| \geq \alpha |z|^{\alpha-1} - \sum_{k=2}^{\infty} (\alpha+k-1) |a_k(\alpha)| |z|^{\alpha+k-2} \geq \alpha r^{\alpha-1} - r^\alpha \sum_{k=2}^{\infty} (\alpha+k-1) |a_k(\alpha)| \geq \alpha r^{\alpha-1} - r^\alpha \left\{ \frac{(\alpha+1)\{ |b|(A-B)[\beta + \alpha(1-\beta)] - \alpha\beta(e^{i\theta} - 1)(B+1) \}}{[(\alpha+1)[\beta e^{i\theta} + (1-\beta)(\alpha+1)] + |b(A-B)[\beta + (1-\beta)(\alpha+1)] - B(\alpha+1)[\beta e^{i\theta} + (1-\beta)(\alpha+1)]} \right\} T_{2,\alpha}^m \text{ and}$$

this ends the proof.

### 3. References

- i. A. Akbarally, S. Cik Soh and M. Ismail, On the properties of a class of p-valent functions defined by Salagean differential operator, *Int. J. Math. Analysis*, vol. 5, no 21 (2011), 1035-1045.
- ii. M.K. Aouf, A. Shamandy, A.O. Mostafa and S.M. Madan, A subclass of starlike functions, *Acta Universitatis Apulensis*, no 21 (2010), 135-142.
- iii. J.O. Hamzat and A.M. Gbolagade, Coefficient inequalities for certain new subclass of analytic univalent functions in the unit disk, *IOSR Journal of Mathematics*, Vol.10, Issue 4, Ver.1(Jul-Aug. 2014), 78-87.
- iv. J.O. Hamzat and S.O. Sangoniyi, Certain subclasses of analytic p-valent functions with respect to other points, *IOSR Journal of Mathematics*, Vol.10, Issue 4, Ver.1(Jul-Aug. 2014), 61-77.
- v. A. T. Oladipo and D. Breaz, A brief study of certain class of harmonic functions of Bazilevic type, *Hindawi publishing cooperation ISRN, Mathematical Analysis 2013*, article ID179856, 11pages.